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Name: 

Daily Word Problem

2 0 0 0 0 2

B-101 Operations with 
Money

Multi-
Step

answer: ____________________

Dane has 97¢. He buys a brownie and a cookie.
How much money does he have left?

Show your work.

Snack Prices

cookie

brownie

chips

25¢

55¢

85¢



Daily Word Problem

Super Teacher Worksheets - www.superteacherworksheets.com

Name: 

2 0 0 0 0 2

B-102 Elapsed Time

answer: ____________________

Aisha got on the school bus at 9:00.
She got off the bus at 9:30.
How long was she on the school bus?

Show your work.
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Name: 

2 0 0 0 0 2

B-103 Place Value: 3-Digit 
Numbers

answer: ____________________

I am thinking of a secret number.
The digit in the tens place is 7 less than 9.
The digit in the ones place is the sum of 5 and 4.
The digit in the hundreds place is 4 less than 5.
What is the secret number?
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Name: 

2 0 0 0 0 2

B-104 Adding & Subtracting 
2-Digit Numbers

Single-
Step

answer: ____________________

Ryan had 90 plastic eggs.
25 eggs had a coin inside.
The rest had a toy inside.
How many eggs had a toy inside?

Show your work.
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Name: 

2 0 0 0 0 2

B-105 Repeated Addition 
or Multiplication

Single-
Step

answer: ____________________

Ms. Zhang has a daughter and 2 sons.
She gives each of her children 5 cherries.
How many cherries did she give them altogether?

Show your work.
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Daily Word Problem

ANSWERSB-101 through B-105

2 0 0 0 0 2

answer: ____________________

Ms. Zhang has a daughter and 2 sons.
She gives each of her children 5 cherries.
How many cherries did she give them altogether?

Show your work.

answer: ____________________

Ryan had 90 plastic eggs.
25 eggs had a coin inside.
The rest had a toy inside.
How many eggs had a toy inside?

Show your work.

answer: ____________________

I am thinking of a secret number.
The digit in the tens place is 7 less than 9.
The digit in the ones place is the sum of 5 and 4.
The digit in the hundreds place is 4 less than 5.
What is the secret number?

answer: ____________________

Aisha got on the school bus at 9:00.
She got off the bus at 9:30.
How long was she on the school bus?

Show your work.

answer: ____________________

Dane has 97¢. He buys a brownie and a cookie.
How much money does he have left?

Show your work.

Snack Prices

cookie

brownie

chips

25¢

55¢

85¢

17¢ 30 minutes 129

65 eggs 15 cherries

55 + 25 = 80
97 -- 80 = 17

90 -- 25 = 65

5
10

15

20
25

30 minutes

or
3 × 5 = 15

5 + 5 + 5 = 15


